Interconversions
Imperial to Metric - MULTIPLY ex 1) 6.3in=1b cm

To be given these: ex2) 7yd=_©.37 m
1in = 2.54 cm

1ff = 3048 cm ex3) O55ft= |61, 6%em
1yd = 091m

1mi = 1.61km ex4) 20cm=__/.%27 in

Metric to Imperial - DIVIDE ex5) 100km=_63. !l m

ex6)15in=_32 1 mm
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ex) You drive 68 mi. Your friend drives 114 km.
Who drove further?

HINT: just convert one of them
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ex) Erikais 5 ft 6 in on her driver's license, how tall is
she in cm?
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ex) Atrucker's semi-trailer is 3.5 m high. The clearance
under a bridge is 11 ft 9 in. Will the semi clear the bridge?
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